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20084E9RA3H 13:31 (sample.c)

#include <stdio.h>
tinclude <stdlib.h>
tinclude <math.h>
#define N 128

void read_file(unsigned char image[], char namel[]);

int main¢void) {
int i;
unsigned char image[NsN]; //H{&® 1 K7TT—&
char name(10]="imagel”; //E{§5F— & Q&R
int M0=0, MI=0;
double P[2]:
double H;

k

read_file(image, name):

for(i=0; i{NsN; i++) {
if(imageli] == 0)
MO+

}

P[0] = (double)MO/ (MO+MI) ;

P[1] = (double)M1/ (MO+MI) :

printf ("PO = %f, Pl = %f¥n", P[0], P[I1]):

for(i=0; i<€2; it1)
if(P[i]==0)
Plil=1;

H= (- P[0]*log(P[0]) - P[1]%log(P[1])) / log(2);
printf C"H = %f¥n", H);

return 0;

}

void read_file(unsigned char image{], char name[3) {
FILE *fp:
char ¢[N#N+1]:
int i:

if((fp = fopen(name, "1r")) == NULL} {
printf ("error¥n™):
exit(1):

fgets(c, N#N+1, fp):
for (i=0; i{N#N; itb)
image[i] = c[i] - 48;



